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Original price: £30 Original price: £60
Increased by 20%:= (4 Increased by 40% = Z'-r
2

or=3 g3 oe=f Ve

Becca is increasing the prices in her café by 20%.
Calculate the new price of the following items:

loz=lbp 160+ 2p= £]-
S £1.60 202:31: t= £112

£2.80 - 0x>18p pq. = $1
@ 2az= Slp £1-904+ Bp=£3-3%

James says,

Decreasing a number by
= 13% is the same as
finding 87% of that

number. y

Doyouagree? Yoy becawse 007 -3 7= Q17




Working Deeper

Tamzin has an amount of money saved.

The amount is increased by 25%

The new amount is then decreased by 25%

Does Tamzin have the same amount of money as she started with?

Explain your answer. No
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Jake earns £50 pocket money a month.
His mom increases it by ‘IO%.\ @
How much does he get now? £5
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Blake earns £40 pocket money a month.
His mom increases it by 10%.
How much does he get now?
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ho+b= 4¢

Jenny earns £40 pocket money a month.

Her mom increases it by 20%. «, loxs i ‘a
How much does she get now? 20,'__ g
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